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For #1 — 14, find each quotient.

1. 1449 = 7 2. 0.63 = 03 3. 47.6 = 0.014 4. 0.006 =~ 0.2

5. 8 +04 6. 72 + 09 7. 40 = 0.08 8. 2.01 = 0.03

9. 0.0639 = 3 10. 24 =+ 0.006 11. 12.36 + 0.012

12. 0.1908 =+ 3.0 13. 9.9 =+ 0.09 14. 0.01 = 0.0005

<
<
<
<
<
S
<
<
<
<
<
S
S
S
S
<
<
S
<
S
S
S
S
<
S
S
<
S
S
S
S
S
S
S
S
S
S
S
S
S
>
X
X
0%
0%
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
Xx
X
X
%

C5050d500508508503503506500508508 5035005050050 5085035050500 5085035050508 50¢ 5035085050508 508 508 5050850500508 508 5050850500508 508508508508 5085085080000 0
Decimal Worksheet 5 ©2025 Ripples~to~Waves Publications



Gaining Math Momentum
$od5ad50g90d50d 508508508 50d 50850l 50dbedbadSadbedbadbadbedSadbadhedbadbadhedadbadhedbadbadhedbadbedhadhedsedhadbedsed adhedbad adhedbad adhedbedbad ol bod hadbadhadbedbedbodoal o

1
1
1
1
e
1
1
1
1
1
<
S
S
S
S
<
<
S
<
S
S
S
S
<
S
S
<
S
S
S
S
S
S
S
S
S
S
S
S
S
>
X
X
0%
0%
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
Xx
X
X
X
”

NAME

15. At Sadie’s Superior Sweet Shop, 2.5 pounds of dark chocolate fudge cost
a total of $21.25. What is the cost per pound?

16. Landon is planning to save the same amount each month to go on a
weekend trip with his friends. Landon’s trip will cost $199.50 with all
taxes and fees included. If Landon saves $10.50 every month, how long
will it take him to save enough money for the cruise?

17. Due to a severe drought in the area, the water level on the Sunset River
is dropping. The water level decreases at a constant rate of 0.4 feet per
week. If the river is currently 10.8 feet deep, how long will it take for the
river to completely dry up?

18. Marta spent $12.59 at the store. She bought 1 gallon of milk for $3.05
and 6 yogurts. If there was no sales tax, how much did each yogurt cost?

<
<
<
<
<
S
<
<
<
<
<
S
S
S
S
<
<
S
<
S
S
S
S
<
S
S
<
S
S
S
S
S
S
S
S
S
S
S
S
S
>
X
X
0%
0%
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
Xx
X
X
%

C5050d500508508503503506500508508 5035005050050 5085035050500 5085035050508 50¢ 5035085050508 508 508 5050850500508 508 5050850500508 508508508508 5085085080000 0
Decimal Worksheet 5 ©2025 Ripples~to~Waves Publications



